CBCS/B.A./B.Sc./Hons./2nd Sem./ECOACOR04T/2020

=ed foemry

WEST BENGAL STATE UNIVERSITY
B.A./B.Sc. Honours 2nd Semester Examination, 2020

ECOACORO04T-EcoNnoMIcs (CC4)

STATISTICAL METHODS FOR ECONOMICS-I
Time Allotted: 2 Hours Full Marks: 50

The figures in the margin indicate full marks.
Candidates should answer in their own words and adhere to the word limit as practicable.
All symbols are of usual significance.

I. Answer any five questions from the following: 2x5=10
T @-Cieat #fpfe elvew Tex wiss
(a) What is primary data? Explain with an example.
eI A Oy PICE 0T 9 Twiggel FRENC! AT B |
(b) State two uses of Geometric mean.
QTSR 90T 710 = T
(c) What is coefficient of variation?
(oI JICF 0T 2
(d) Show that if all values of the variable are equal, standard deviation is zero.
WANS (@, W (I HeTCHE I A e TN 27 O Herpiva o ([pyiod 3 %[+ 2(J |
(e) What do you mean by Kurtosis?
Pl E00 I Q@IRI 9
(f) What is Trend in time series?
Fa AR 2[ere! P 6 9
(g) Mention two uses of index number.
o IR Y10 FIRF TR A
(h) What is a life-table?
QI -2F IS T 9

2. Answer any four questions from the following: 5x4 =20
T @-ieal 5o @eie Ted mies

(a) Show that %z " (x;—A)* is least when 4 = Arithmetic mean of x, where 4 is

arbitrary constant.

e @, L (x, - 4)7 9T W O RO =W I 4 = x 47 (TR oG A,
@A 4 9T &< |
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(b) Discuss how scatter diagram can be used to explain the degree and type of
association between two variables.

7S 5AER T A WG @R TRIR &FS o w47 T el Fite fog a<ae
AR AN FCAT

(c) For the variables x and y, the two regression lines obtained are 3x+2y—25=0
and 6x+y—30=0. Find
(1) Value of y when x = 12 and, (ii) Value of x when y = 25
x 8 y b vercea ufb fSqel @l Ae (IR, 3x+2y—-25=0 @R 6x+y—-30=0;
faefa e
(1) -9 M RS x = 12 gR (11) x-GF NF I¥F y = 25.

(d) Define cost of living index number and mention its uses.
G 3 R 5 R 900 F @RI 2 @2 4@ pF IRAF IR Sead
I

(e) Explain infant mortality rate. Discuss its limitations.
TR _3[ora 2 I RN 92 2R @3 HREore e S B

(f) What is ‘Analysis of Variance’? Explain briefly. In this respect explain the term
‘Sum of Squares Between groups (SSB)’ and ‘Sum of Squares Within groups
(SSWy’.

‘Analysis of variance’ I#10® I @I 9 FREFCA I TR | @2 @S ‘SSB” @R
‘SSW’ @2 7 5 7l F @R W Ol DA FCE |

3. Answer any two questions from the following:

faferie Q- 7/ et Ten wies

(a) (1) The expenditure of 1000 families is given below.
1000 =i <7067 299 s e zo)

Expenditure (%) 40-59 | 60-79 | 80-99 | 100-119 | 120-139
SE(1Y

Number of families | 50 N 500 1 50
RIERICERS]

The mean and median for the distribution are both ¥87.50. Calculate missing
frequencies and then calculate mode.

I ARy Rerewba 16 @ N 7ibi2 787,50 2, OiEGe weld Rl 1t @)
fRete @ R <ieE A= 6 S|
(i) Explain Quartile deviation as a measure of dispersion.
Rgfen “Ifwio 231103 5gd 21T (Quartile deviation) BTG FC |
(b) (i) Calculate standard deviation when values of the variable are:
e amefem o e Rgfe M s
1,3,5,7,9,............ ,23,25. n=13.
(i) For a symmetrical distribution, Q; = 24 and Q3 = 42, find the median.
@b & (symmetrical) ReIGCTR (FCT, Q) = 24 @R Q3 = 42, SKIAF A
e s
(i) Discuss briefly different measures of skewness.

eforgac [fen #imietafe Sewes St T
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(c) (i) Distinguish between the concept of ‘correlation’ and ‘regression’ of two
variables.

i beTcea W S @ fNeareta iaet ey ANy oot e

(i) Find the coefficient of correlation between sales and expenses of the
following ten firms.

fSova wift wicha Reen @ <aeea Wy 72efe @iz & s

Firm 1 |2 |3 |4 |5 |6 |7 |8 ]9 |10
gand
Sales (in thousand units) 50[50(55]60|65|65|65|60 60|50

ey (o 3 F)
Expenses (in thousand rupees) | 11 | 13 | 14 |16 |16 | 15| 15|14 |13 | 13
<5 (SR GIFI)

(d) (i) Show that Marshall-Edgeworth price index number is the weighted
Arithmetic mean of price relatives.
(e @, Marshall-Edgeworth SR I 261 &0 Seoifs W oye
Tifers 57T |
(i) From the following data, for towns 1 and 2 separately, find
A. Crude death rates (CDR)
B. Specific death rates for each age group (ASDR)
Briefly comment on the results.
0N &ve O (U, ¥4 1 GR 2-G3 &) JEMISIE e sl

() %1 T2 (CDR)
(¥) e grzia e -7 &) (ASDR)
2% B (results) R FRTHCA (SR OIS T FCA|
Age group Town 1 *2q 1 Town 2 *12g 2
(years)
R @@
(=)
Population | Number of deaths | Population | Number of deaths
TR BICIERZE) SR BRI

0-9 1,500 45 6,000 150
10-24 3,000 15 5,000 20
25-44 5,000 30 6,000 30
45 and over 500 12 3,000 54
Total 10,000 102 20,000 254

N.B. : Students have to complete submission of their Answer Scripts through E-mail / Whatsapp
to their own respective colleges on the same day / date of examination within 1 hour after
end of exam. University / College authorities will not be held responsible for wrong
submission (at in proper address). Students are strongly advised not to submit multiple
copies of the same answer script.
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